Please help & please show step-by-step, thx, appreciate it.
Below are key point notes my instructor gave for this assignment and they are relative and important to how we have to do the problems. There is one problem #5 & two pages.  
Key points: 

The average rate of change of 
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over the interval , is the slope of the secant line that passes through the points [image: image2.png]Pla, f(a))
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In various applications, the change in the [image: image6.png]


-value is denoted by [image: image7.png]


and the corresponding change in the [image: image8.png]


-values is denoted by [image: image9.png]
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The instantaneous rate of change of [image: image11.png]


at [image: image12.png]


(or the speed how quickly [image: image13.png]


changes as the values of [image: image14.png]


pass through [image: image15.png]
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of the tangent line to [image: image17.png]
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, where the slope of the tangent is defined as 
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If we let [image: image20.png]


, then 

Interact (use left and right arrow keys) with this (quicktime) animation that illustrates secant lines converging to the tangent line at [image: image21.png]


. 

Almost all quantities in science and real life change in time. By solving rates of change problems, we implicitly solve many problems in sciences.
5. An object is moving along the straight line as follows. It starts at [image: image22.png]


and then it moves to the right to [image: image23.png]


. Then the objects moves to the left to [image: image24.png]


, and finally to the right to stop at [image: image25.png]


. Sketch a possible graph of the position function [image: image26.png]


. Sketch a possible graph of the velocity [image: image27.png]


(the instantaneous rate of change of [image: image28.png]


).

